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BE=CD

BOC= BAC=60

OA BOD
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OB=OC+OA OD=OE+OA
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BM=OA

OB=OM+BM=OC+OA

OD=OE+OA

B A D 3

BF=CG DG=EF FAG FG//BD

ABE ACD ABF= ACG

BAF= CAG=60 AB=AC

ABF ACG ASA

BF=CG

ABF ACG AF=AG

FAG=60 FAG

AFG= BAC=60

FG//BD
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4 AOC C 60 A O C

OA=O A

OCO = ACA =60

OC=O C AC=A C

OCO ACA

OC=OO OA+OB+OC=OB+OO +O A
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B O O A

OA+OB+OC BA O BA

AOB B 60 A O B

C O O A OA+OB+OC

CA O CA O BA

CA OA+OB+OC P

AB AC ABD

ACE 5 CD BE O

ABD ACE
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ABC 120
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6 Rt ABC

AC BC AB
2 2 2AC BC AB� �

6 AB AC BC ABHI

ACFG BDEC

C AB AB HI J K

BK CH AD BE

BH HI CK HI BH//CK

BHK BHC

S BHK=S BHC S BDA=S BDE

BDEC ABHI

BCH BDA

S BCH=S BDA S BDE=S BHK

S BDEC=2S BDE S ABHI=2S BHK S BCED=S

BHKJ

S AIKJ=S ACFG

S ABHI=S BDEC+S ACFG
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